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General Instructions :

Read the following instructions carefully and follow them :

(i)
(ii)
(iii)
(iv)
v)
(vi)

(vii)

(viii)

(ix)

61/S/1

This question paper contains 34 questions. All questions are compulsory.
Question paper is divided into five Sections — Sections A, B, C, D and E.

Section A — questions number 1 to 21 are Multiple Choice type questions. Each

question carries 1 mark.

Section B — questions number 22 to 27 are Short Answer type questions. Each question

carries 3 marks. Write answer to each question in 60 to 80 words.

Section C — questions number 28 to 30 are Long Answer (LA) type questions. Each

question carries 8 marks. Write answer to each question in 300 to 350 words.

Section D — questions number 31 to 33 are Source-based questions having three

sub-questions. Each question carries 4 marks.

Section E — question number 34 is Map-based question that includes the identification

and location of significant test items. This question carries 5 marks. Attach the Map
with the answer-book.

There is no overall choice. However, an internal choice has been provided in Sections
B, C and E of question paper. A candidate has to write answer for only one of the

alternatives in such questions.

In addition to this, Note that a separate question has been provided for Visually
Impaired candidates in lieu of questions having visual inputs, Map etc. Such questions

are to be attempted by Visually Impaired candidates only.

SECTION A
(Multiple Choice Type Questions) 2Ix1=21

On which of the following kinds of land were most of the Harappan sites located ?
(A)  Arid land

(B)  Semi-arid land

(C)  Wetland

(D)  Desert land
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Freforfaa & & Fa-dt wmer i Terer oft 2

(A) TSR (B)  dedt
(C) 5o (D)  a&fTe
FTREd o § SIF-HT Jehtes THT off 2

(A) ST e (B) et
(©) g (D) faem

few mru o= it FefeiiRaa foeredt @ we=ma hifsTg

(B)  uToT o Hfd
(C) it A fd (D)  SRITT SRTRa

e : FArfcriaa Fo7 aet giaTfera uitenfefan & fore . & 4 FTIH WE -

Hax S, HiH STATIR 6 HH Ffcaiad | 8 forg T = o1 off 2
(A)  FHIOTTST, Hioeh (B) 1 TSI, &
(C) et T, &Y (D) T ST, S5 fod

it fo e forspedt § & Suea foaered g far v <t afid i
Tt 7 e e ? foF Aiesiee! & el il S
(A) 600 (B) 500
(C) 400 (D) 700
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2. Which one of the following was the capital of Magadha ?

(A) Rajagaha (B)  Vaishali

(C)  Ujjain (D) Taxila
3. Who among the following was the Vakataka queen ?

(A)  Prabhavati Gupta (B)  Gautami

(C)  Subhadra (D)  Dithya
4. Identify the given image from the following options :

(A) Lion Capital (B)  Sculpture of Kushans
(C)  Sanchi Sculpture (D)  Prayaga Prashasti
Note : The following question is for the Visually Impaired Candidates only, in lieu of Q. no. 4.

Who among the following kings repaired the Sudarshana lake, an artificial

reservoir ?

(A)  Kushana king, Kanishka (B)  Shaka king, Rudradaman
(C)  Kanauyj ruler, Harsha (D)  Gupta king, Chandragupta Il
5. Fill in the blank with the appropriate option out of those given below :

Scholars have estimated that the total number of wells in Mohenjodaro was about

(A) 600 (B) 500
(C) 400 (D) 700
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(A)  IA-feret

(B) iETsHaT

(C) seASq
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6. Read the following statements regarding the followers of the Buddha and choose
the correct option :
L. Mabhapajapati Gotami was the first woman to be ordained as a Bhikkhuni.
II. Many women who entered the Sangha became the teachers of Dhamma.
II1. The Buddha’s followers came from many social groups, including kings

and slaves.

IV. Once within the Sangha, all were regarded as Dhamma Mahamatya.
Options :
(A) TandII (B) L IIandIV
(C) TandIiI (D) LIIandII

7. Two statements labelled as Assertion (A) and Reason (R) are given below. Read

them carefully and select the correct option :

Assertion (A) :  The ruins of Hampi were brought to light in 1800 AD by an

engineer and antiquarian named Colonel Colin Mackenzie.

Reason (R) : Dozens of inscriptions were found from the Virupaksha temple
and other temples at Hampi.

Options :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of the Assertion (A).

(B)  Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of the Assertion (A).

(C)  Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.

8. Identify the foreign traveller who wrote about the ill-effects of the Mughal
crown’s ownership of land in his book :
(A)  Al-Biruni
(B)  Frangois Bernier
(C)  Ibn Battuta
(D)  Domingo Paes
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9.  Twfftad # & spiH-€ft qoret shi -TrsTear orredt off 2
(A) TSGR SoITedt
(B) e JOTTeAT
(C)  TAHSEH YorTedt
(D)  HEMTHh YTt

10.  HTRT AT o1 Here fefetiad 6 § forer aer & o 2

(A) wF (B) gl
(C) ™ (D)  qaTA

o

11.  F=fiRed 4 @ 9 smgaaee” & aws & ?
(A)  FUCEI T (B) THT{T
(C) =i (D) AT

Al

12.  HA-foreft 7 St Qe fbdra-3cr-fee” % A% el | feicifad H§ @ fhw

farfarse St =61 =T fomam 2
(A) I GIY 3T (B)  hiardT o €T AR
(C) T & ey 3Ty (D) 3Gk |1 TRY

13. e o davl # ffeiiaa sert 1 afew ot aet faesed 1 == Hifs
I. (I T 1T =R forfITse ToRreti § Gehferd ¢ |
II. s shl AT sharet 3§ ST & Juered ¢ |
[ e A T TT T a1 A o AT Sk TOrsTi = T fora ® |
IV. eI T Tl hl TS, HATHT, TRd IR R gd 2 |
%w:
(A) 13RI (B) IIARIV

(C) TR (D) 13RIV
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11.

12.

13.
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Which one of the following was the land revenue system of the Mughals ?
(A)  Ijaradari System

(B) Igta System

(C)  Mansabdari System

(D)  Mahanayak System

Which one of the following countries did Marco Polo belong to ?
(A)  Russia (B) Italy

(C)  France (D)  Portugal

Who among the following was the author of Amuktamalyada ?
(A) Krishnadeva Raya (B) Rama Raya

(C)  Harihara (D) Bukka

Which one of the following distinct styles did Al-Biruni adopt in each chapter of
his book ‘Kitab-ul-Hind’ ?

(A) Beginning with a question (B)  Beginning with a poem

(C)  Beginning with a picture (D)  Beginning with a quote

Read the following statements regarding Kabir and choose the correct option :
L. Verses ascribed to Kabir have been compiled in four distinct traditions.
II. Kabir’s poems are available only in the Urdu language.

III.  Kabir used many traditions to describe the ultimate reality.

IV.  Kabir called ultimate reality as Allah, Atma, Hazrat and Nirakar.

Options :
(A) TandII (B) IlandIV
(C) IandIII (D) TandIV
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15.

16.

17.
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FrcTRad STeRRY <l HETEdT & Tl € shi T shifely :

o IHI R el T 7|

o IR GERl 37k R 9 |

(A) @ H3TE fedt

(B)  TATSIT FAEI STReIN hishl
(C) 3G HUgEH TIeI-T TR

(D) G MSTHER i

TR sfoem § worer forgie i wewet i AT S @ 2 frefafea § @ getg
forehed T T ShIfSTT

(A)  TEH TS ST SAiaTer shi I 1 |

(B) SO SEAHIRY SGIe&d ohl deehlcl THT 3T o3 |

(C) 3o faurfeat o uresm @ 1857 o farsie ol Hier T & s7eahm |

(D)  TH MMUH-T-hTE o QAN 3 i SIS S I Fehfa hT S {36 |

STETGL e SR fgeftar = feaforfia o & forer & & 1857 o forsie st egear fopa 2
(A) foeett

B) Gt

(© 399

(D) TER

o

frefcrfaa o & vyra it wfaem o & Tegeg i 9 2
(A) TERERA

(B)  weTHT et

(C) TS=SIHRE

(D) AR et
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Identify the Sufi saint with the help of following information :

® His dargah is in Delhi.

®  Amir Khusrau was his disciple.
(A)  Shaikh Muinuddin Chishti
(B)  Khwaja Qutbuddin Bakhtiyar Kaki
(C)  Shaikh Fariduddin Ganj-i Shakar
(D)  Shaikh Nizamuddin Auliya

Why is the Santhal rebellion considered significant in the Indian history ? Choose

the most suitable option from the following :

(A)
(B)
(©)
(D)

It marked the beginning of National Freedom Movement.
It led to the immediate abolition of Permanent Settlement.
It directly sparked the Revolt of 1857 through sepoys.

It highlighted the exploitative nature of the British towards people of
Damin-e-Koh.

From which one of the following regions did Bahadur Shah Zafar II represent the

Revolt of 1857 ?
(A) Delhi

(B)  Lucknow
(©) Awadh

(D)  Barrackpore

Who among the following was the President of the Constituent Assembly of India ?

(A)
(B)
©
(D)

Sardar Patel
Mahatma Gandhi
Rajendra Prasad

B.R. Ambedkar
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18.

19.

20.

21.
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i faq T ferepedt # & o forerey g Rerd om o6t gfd <hifor
T T W, e 7 UF a9 ek fsifesr Wi & amn i e 9|
W 3R gk AN bl ST &k |

(A) ST TR foeteh

B) fafm =g aer
(C)  <TAT ASIId T
(D) TS ST TG

TRt = = T TSR SR &R AT ?
frfifad 7 & weirRpE faered w1 =2 ik ;

(A) TS =0 Y G o Tdish o ®9 § 3T |

(B)  TefSt I = i T % Yt o &Y H <@ |

(C)  TiTefiSt ¥ = ! UHE THS o Ydieh o €9 § <G |
(D) TS I T Tt Waes o Jdieh & &9 8 <@ |

fefafga d g o o, fer A 1857 F g FAar 9 2
(A) ITRHA B) fwfsw#s

(C) THIE (D) Fafbs

frefariaa O 9 foree diaem g o, Sew S&ara uTid fomam 2

(A)  SsLHY. St
(B) St da
(C) hum. g3l

(D) AR 48%
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18.  Fill in the blank with the appropriate option out of those given below :

On the advice of , Gandhiji spent a year travelling around

British India, getting to know the land and its peoples.
(A) Bal Gangadhar Tilak

(B)  Bipin Chandra Pal

(C)  LalaLajpat Rai

(D)  Gopal Krishna Gokhale

19.  Why was the Charkha chosen as a national symbol by Gandhiji ? Choose the most

suitable option from the following :

(A)  Gandhiji saw the Charkha as a symbol of truth.

(B)  Gandhiji saw the Charkha as a symbol of the poor.

(C)  Gandhiji saw the Charkha as a symbol of human society.

(D)  Gandhiji saw the Charkha as a symbol of self-reliance.

20.  Who among the following was the leader of the 1857 Revolt from Arrah, Bihar ?
(A)  Shah Mal (B) Birjis Qadr

(C)  Danka Shah (D) Kunwar Singh

21.  Who of the following introduced the ‘Objectives Resolution’ in the Constituent
Assembly ?
(A) W.C. Bannerjee
(B) G.B.Pant
(C) K.M. Munshi
(D)  Jawaharlal Nehru
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SECTION B
(Short-Answer Type Questions) 6x3=18
(a) Describe any three features of the Mahajanapadas. 3

OR

(b)  Describe any three causes of the growth of Magadha as a powerful

Mahajanapada. 3
Describe the teachings of Buddhism. 3
Examine the features of Vitthala Temple of Vijayanagara empire. 3

(a)  Analyse the growth of the Mughal Empire in managing their economic

resources. 3
OR

(b)  Analyse the role of women as a resource in the agrarian society of the
Mughal Empire. 3

“Mahatma Gandhi’s role was vital in the Non-Cooperation Movement.” Explain

the statement. 3

Explain any three aspects of the vision of unity reflected in the 1857 Revolt. 3
SECTION C

(Long-Answer Type Questions) 3x8=24

(a) “There is evidence that by c¢. 1800 BCE most of the Harappan sites had
been abandoned.”

Substantiate the statement in the context of causes and evidences. 8

OR

(b) “There are indications of complex decisions being taken and implemented

in Harappan society.”

Substantiate the statement with suitable arguments. 8
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(a)

(b)

(a)

(b)

Read the given source carefully and answer the questions that follow :

“Travellers often compared what they saw in the subcontinent with
practices with which they were familiar.”

Explain the observations of Al-Biruni in context of the above statement.
OR

“Ibn Battuta found cities in the subcontinent full of exciting opportunities
for those who had the necessary drive, resources and skills.”

Explain this statement.

Examine the different aspects of ‘Ryotwari system’ introduced in the
Bombay Deccan by the British.

OR

Examine the different aspects of the ‘Permanent Settlement’ introduced in
Bengal by the British.

SECTION D

(Source-Based Questions) 3x4=12

Draupadi’s question

Draupadi is supposed to have asked Yudhisthira whether he had lost himself

before staking her. Two contrary opinions were expressed in response to this

question.

One, that even if Yudhisthira had lost himself earlier, his wife remained

under his control, so he could stake her.

Two, that an unfree man (as Yudhisthira was when he had lost himself)

could not stake another person.

The matter remained unresolved; ultimately, Dhritarashtra restored to the

Pandavas and Draupadi their personal freedom.

31.1)
(31.2)

(31.3)

What was Draupadi’s question to the Assembly ?

How did Draupadi’s questions in the Assembly redefine the notions of
societal norms ?

“Draupadi’s character represented various virtues.” Explain any two.

Page 17 of 23 P.T.O.
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Page 18 of 23

NN~ ~



AN

32,

33.

61/S/1

Read the given source carefully and answer the questions that follow : 1+1+2=4

Shastras or devotion ?

This is a verse composed by Appar, a Nayanar saint :
O people who quote the law books,
Of what use are your gotra and kula ?
Just bow to Marperu’s lord (Shiva who resides in Marperu, in
Thanjavur, Tamil Nadu) as your sole refuge.
(32.1) Who were the Nayanars ?
(32.2) Who was considered as the sole refugee ?
(32.3) Explain the views of Appar on Bhakti.

Read the given source carefully and answer the questions that follow : 1+1+2=

“We are not going just to copy”

This is what Jawaharlal Nehru said in his famous speech of 13 December, 1946 :
...We say that it is our firm and solemn resolve to have an independent sovereign
republic. India is bound to be sovereign, it is bound to be independent and it is
bound to be a republic... Now, some friends have raised the question : “Why have
you not put in the word ‘democratic’ here ?” Well, I told them that it is
conceivable, of course, that a republic may not be democratic but the whole of our
past is witness to this fact that we stand for democratic institutions. Obviously we
are aiming at democracy and nothing less than a democracy. What form of
democracy, what shape it might take is another matter. The democracies of the
present day, many of them in Europe and elsewhere, have played a great part in
the world’s progress. Yet it may be doubtful if those democracies may not have to
change their shape somewhat before long if they have to remain completely
democratic. We are not going just to copy, I hope, a certain democratic procedure
or an institution of a so-called democratic country. We may improve upon it. In
any event whatever system of government we may establish here must fit in with
the temper of our people and be acceptable to them. We stand for democracy. It
will be for this House to determine what shape to give to that democracy, the
fullest democracy, I hope. The House will notice that in this Resolution, although
we have not used the word “democratic” because we thought it is obvious that the
word “republic” contains that word and we did not want to use unnecessary words
and redundant words, but we have done something much more than using the
word. We have given the content of democracy in this Resolution and not only the
content of democracy but the content, if I may say so, of economic democracy in
this Resolution. Others might take objection to this Resolution on the ground that
we have not said that it should be a Socialist State. Well, I stand for Socialism
and, I hope, India will stand for Socialism and that India will go towards the
constitution of a Socialist State and I do believe that the whole world will have to
go that way.

Source : CONSTITUENT ASSEMBLY DEBATES (CAD), VoL. |
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(33.1)
(33.2)

J8® A TEATd H “AlehdiHeh’ ITee 41 IMTH A2l fohar ?
AT | 3ATTeh Alohd s o HETT ohl {I9eiNUT hifTT |

(33.3) THNETE W STl 8% o (e ol fogeieor I |

LCLER
(wrfRrE-armenfa av)

ﬁﬁ%ﬁﬁﬁﬁﬁw%:

(34.2)

(i)  retteT — fompfea ggwT TeA
(i) SIS — 73T & AT
(iii) (F)  HeTehaT — U & 37T I
AAAT
(iil) (@) TGS — S % AT I
A o 361 TSI ook WT-HH o T TS |THTST § Heiferd a1 S bl A

3 B & &9 # Fafzga fomam man 2 | 39k ug=m hifsw it 398 o 9w
I fere @i=h 78 wEren v fafaw |

e : FArfcriiaa Jo7 Faer gfaTfera udtenmfefal & fore 7. 6. 34 FTqA W E

(34.1)
(34.2)
(34.3)

(34.3)

61/S/1

T ok 3Tef foReel 3t &t o A fafau |

1857 < fagie o forel aT el o A faifaw |

(F) TS o TordlT Toh Torsh i qUreeret o1 A et |
T

(@) 9T IR o Tt Ush HeTsHug &1 A farfaw |
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3+2=5
34. (34.1) WA o faw TC TorAfrR War-Amtes (758 23 W) H, fFefafad # swe et
3x1=3



(33.1) Why did Nehru not include the word ‘Democratic’ in the Resolution ? 1

(33.2)  Analyse the significance of economic democracy in the resolution. 1

(33.3) Analyse Jawaharlal Nehru’s views on Socialism. 2
SECTION E

(Map-Based Questions) 3+2=5

34. (34.1) On the given political outline map of India (on page 23), locate and label
the following with appropriate symbols : 3x1=3

(1)  Kalibangan — Mature Harappan site
(11) Kaushambi — Ashokan Inscription

(i) (a) Calcutta — A city under the British
OR
(i) (b) Lucknow — A city under the British

(34.2) On the same outline map of India, two places related to the Mughal
Empire are marked as A and B. Identify them and write their correct

names on the lines drawn near them. 2

Note : The following questions are for the Visually Impaired Candidates only, in lieu of

Q. No. 34 :

(34.1) Name any two territories under the Mughals. 2

(34.2) Mention any two centres of Revolt of 1857. 2

(34.3) (a) Mention any one mature site of Harappa. 1
OR

(34.3) (b) Mention the name of any one Mahajanapada of ancient India. 1
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For question no. 34

WA T {AT-UTH (TAATTereh)
Outline Map of India (Political)
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